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1. #5E= T 74 XDUET =4} |
2. W% = MPUZ-P1401HA |
3. WEET (M138)

(1 HEEE (EHEEE) w=[ 120 kg
(2)7oh—ARL b
DA% ST S
@44 X - Bk =M 10 |®
@ 1KLY OBMIER (FRICKIHER A=| 78 mm?= | 78 x10°|m?
OHBEEEEZ-BADIBYEZHE/AHOT U A—RLrOBEF  N=| 2 |K
BENELYHBEELETOES He=| 500 lmm= (0500 |m
(A)BRETIHAD DHZRIL kR L=| 370 lmm= (0370 |m
(5) BT HHMM BAFARIL bl b MBEDE TOER Le=| 185 |mm(Lg=L/2)90.185 |m
4. BEEHE (FEO/NMFRLUT2HEZMUERALTER)
(1) BEHAKERE Kh=| 10 |
(2)BEHANERE Kv=Kh/2= 05 |
(3)BEHAKEHMEA Fh=kh-W-9.8=[ 11760  |N
(4)BERMERES Fv=Kv-W-98=] 5880  |N
Fh-Hg-(W-9.8-Fv)-Lg
(58)7vh—HRIL FDBIRA Rb= TN =] 6476 [N
(6)72h—iRK)L FDEABH Q@=Fh/N=| 2940 [N
(V7 oh—RILMZETBIEHE
DBIRENE o=Rb/A=| 83  |MPa<ft=176.4MPa
@t AMISHE T=Q/A=| 38  |MPa<fs=132.3MPa
@IIRELEAMERBRIZZT 5158 fts=14ft-167= 2409  |MPa

= L. fts' STt & Efts=fts’, fts' >FtD & Efts=TtTHDIDT fts= 176. 4 MPa

o= 8.3 |Ma < fts=|  176.4 MPa
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D7 v h—HRIL OB = BRERIMT U A— \
@arvyY—+ORE = 120 \mm= 0120 |m
@RI +OEAE = 70 lmm=| 0070 |m
@FESIRME Ta=| 3136 | N > Rb=| 648 |N
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